INSTRUCTIONS

AUTO PUMVP

MOUNTING PLATE

MODEL #091-9H-1

MOUNTING PLATE 1/4”FLAT WASHER
AUTO PUMP M

RUBBER WASHER

Y

1. Mount Auto Pump to Mounting plate.

A.

B.

Place 1/4” bolt, lockwasher and flatwasher

(x6)1/4-20 x 3/4BOLT

I _ _ ‘E_\E:::
LOCKWASHER 1/4” INTERNAL TOOTH

through mounting plate and rubber washers as shown.

Tighten screw into Auto Pump as shown.

C. Mount assembly to chassis.

2. To install Auto Pump assembly, see your Auto Pump
instruction book.

170 Cherry Avenue
West Sayville, NY 11796

www.kussmaul.com
File: 091-8SH-1_GEN3
Rev: A

Revised By: PSS/JRN
Date: 08-31-16

=) KUSSMAUL

bed ELECTRONICS

ENERGIZED AND READY, WHEN SECONDS COUNT

Ph: 800-346-0857
Fax: 631-567-5826
sales@kussmaul.com



